
                 

 

                                 UKG – HALF YEARLY SYLLABUS OF ABACUS  

 

 

 

 

 

 

 

 

 

 

 

 

                                   Q1.  STRUCTURE OF AN ABACUS  

Note: Need to learn all the parts of an abacus in the above given 

structure.  

Q2.  How many lower beads are there in the unit rod? 

Ans. 4 

Q3.  How many upper beads are there in the unit rod? 

Ans. 1  

Q4. What is the value of the upper bead in the unit rod? 

Ans . 5 

Q5.  What is the value of each lower bead in the unit rod ? 

Ans. 1  

Q6.  Which rod is there below the centre dot ? 
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Ans.  Unit Rod. 

Q7.  Name the outer part of an abacus. 

Ans. Frame. 

 


